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Sample Paper – 2009

Class – X

Subject –  MATHEMATICS
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  Marks: 80
General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four sections – A, B, C and  D. Section  A  contains  10 questions of  1  mark  each, Section  B  is of  5 questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and section  D is  of  5 questions of 6 marks each. 

3. In question on construction, the drawing should be neat and exactly as per the given measurements.
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SECTION – A
1. Explain why 
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 is a composite number?

2. Find the mode of the data whose mean and median are respectively 25 and 25.

3. If 
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, find k.
4. What is the probability of having 53 Sundays in a leap year?
5. The common difference of an A.P. is 4. Find the value of a70 – a65.
6. The radius of a circle is 9cm. The length of the tangent drawn from point P to the circle is 12cm. Find the distance of the point from the centre of the circle.
7. If 
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8. ∆PQR is an equilateral triangle with each side of length 2p. If PS ( QR, find length of PS.
9. Find the value of k for the equation 
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so that it has two equal roots. 

10. The length of the minute hand of a clock is 28cm. Find the area swept by the minute hand in 10 minutes.
SECTION – B
11. For which values of a and b does the following pair of linear equations have an infinite number of solutions?
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12. A piggy bank contains hundred 25p coins, fifty Re 1 coins, twenty Rs 2 coins and ten Rs 5 coins. If it is equally likely that one of the coins will fall out when the bank is turned upside down, what is the probability that the coin :

(i) Will be a 25p coin?

(ii) Will not be a Rs 2 coin?

13. In figure (1 = (2 and (3 = (4. Show that PT ( QR = PR ( ST.

14. Evaluate :  
[image: image9.wmf]0

0

0

0

0

0

0

0

0

0

85

tan

55

tan

60

tan

35

tan

5

tan

90

sin

70

cot

20

tan

25

sin

65

cos

2

+

-

-


15. Find a point on Y-axis which is equidistant from the points A (6, 5) and B (-4, 3).
SECTION – C

16. Prove that 
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is an irrational number.

17. Prove that opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles at the centre of the circle.

18. The line-segment joining the points (3, -4) and (1, 2) is trisected at the points P and Q.  If the coordinates of P and Q are (p, -2) and (
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, q) respectively, find the values of p and q.

19. Prove that : 
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OR

Prove that: 
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20. In adjoining figure, two circles touch at the point A, O is the centre of the bigger circle. If CB = 9 cm and ED = 5 cm, find the area of the shaded region. [ Take ( = 3.14 ]
21. On dividing 
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by a polynomial g(x), the quotient and remainder were 3x + 10 and 16x - 43 respectively. Find the polynomial g(x).
OR
Obtain all other zeros of 
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, if two of its zeros are 
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22. Solve the following equations graphically: 3x – 2y = 8; x + 7y = 18. Also find the coordinates of the points where the line 3x – 2y = 8 meets the axis of y. 
23. In what ratio does the line 4x + y = 11 divide the line segment joining the points (1, 3) and (2, 7). Also find the coordinates of the point of intersection.
24.  Amit saved Rs 5 in the first week of the year and then increased his weekly saving by Rs 1.75 each week. In which week will his weekly savings be Rs 20.75?

25. Draw a triangle ABC with side BC = 7 cm, (B = 45°, (A = 105°. Then, construct a triangle whose sides are 
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 QUOTE  

times the corresponding sides of Δ ABC.
SECTION - D

26. A bucket made up of a metal sheet is in the form of a frustum of a cone. Its depth is 24 cm and the diameters of the top and bottom are 30 cm and 10 cm respectively. Find the cost of milk which can completely fill the bucket at the rate of Rs 20 per litre and the cost of the metal sheet used, if it costs Rs 10 per 100 cm2. [ Use ( = 3.14 ] 

27. Find the mean, mode and the median for the following data :

	Class interval
	10 - 20
	20 - 30
	30 - 40
	40 - 50
	50 - 60
	60 - 70
	70 - 80

	Frequency
	4
	8
	10
	12
	10
	4
	2


28. A straight highway leads to the foot of a tower. A man standing at the top of the tower observes a car at an angle of depression of 30°, which is approaching the foot of the tower with a uniform speed. Sex seconds later, the angle of depression of the car is found to be 60°. Find the time taken by the car to reach the foot of the tower from this point.
29. A train travels 360 km at a uniform speed. If the speed had been 8 km/h less, then it would have taken 1 hour less for the same journey. Find the speed of the train.

OR
The sum of the reciprocals of Ravi’s age (in years) 3 years ago and 5 years from now is 
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30. Prove that in a right angled triangle, the square of the hypotenuse is equal to the sum of the squares of the other two sides.
Using the above, do the following :

D and E are points on the sides CA and CB respectively of a ∆ABC right-angled at C. Prove that AE2 +BD2 = AB2 + DE2.
OR
Prove that the lengths of tangents drawn from an external point of a circle are equal.

Using the above, prove that the parallelogram circumscribing a circle is a rhombus.
BISWAS TUTORIALS, 1ST D-ROAD, BEHIND NEHRU PARK, SARDARPURA, JODHPUR (RAJASTHAN), CONTACT  No. 9214927974, 9352773991

BISWAS TEST SERIES - 2009














-----------------------------------------------------------------------------------------------------------------------------------------------------------------

_1297439551.unknown

_1297443919.unknown

_1297616781.unknown

_1297616789.unknown

_1297617361.unknown

_1297444116.unknown

_1297615493.unknown

_1297441141.unknown

_1297441563.unknown

_1297441737.unknown

_1297442941.unknown

_1297441624.unknown

_1297441434.unknown

_1297440305.unknown

_1297439434.unknown

_1297439459.unknown

_1297419598.unknown

_1297421915.unknown

_1297419593.unknown

